3. ETRORR

(1) —fe=Et (BAr T
X 7 IAXRIRES A (%)
EBE 2,663,827 30.9
R&E 0 0.0
e 1,431,352 16.6
TR 462,124 54
BE 632,284 7.3
Z Db 138,067 1.6
KEERE 9,702 0.1
Z Db 5,937,502 69.0
o B B B SR AR 3,822,978 44 .4
AftHEER 45175 05
ARG 1,934,817 225
BB T AE 110,557 1.3
ZDh 23,975 0.3
& &t 8,611,031 100.0
(2) HFRl=Et (BAL T
X 7 IRRTES Bk (%)
EREN T LML RT 444000 100.0
it 444,000 100.0
4. BTABIE (FmM2749A830854)
S - HE 4,187,265+ H
HEIZ K DHEF] 1,749,526 FHM
T i 7,780,853 m
EY 103,795m
(B : )
F M T #Y)
N NERBE 2,339,794.85 96,858.61
EEmME 431,157.72 6,936.06
LLI#K 5,009,900 —
INET 7,780,852.57 103,794.67




